MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

I miTs3TET

Exercise

1.24z < 100 & IS &3, A¢:-x YriFf3d AT I

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Gae3d4fwSnfD
https://dl.doubtnut.com/l/_U4qgXf1asYdK

2,24z < 100 & IS dJ;Ae:-x HYJS Hitm I

° Watch Video Solution

3.I83d — 12z > 30, 7e:- x Y3 Hitmr

° Watch Video Solution

4.8 93 — 12z > 30, He:- x HYIS YT I

° Watch Video Solution



https://dl.doubtnut.com/l/_U4qgXf1asYdK
https://dl.doubtnut.com/l/_iqS4H4AH0HHk
https://dl.doubtnut.com/l/_iW9dG3C6dqPe
https://dl.doubtnut.com/l/_WbDgN4c7OweT

5. 98 dd bz — 3 < 7, Ae:x HYIS HiyMT J|

O Watch Video Solution

6.5 dd bx — 3 < 7, A< :x eH3fed Ay J1

0 Watch Video Solution

7.3z + 8 > 28 IBAJ, AL :-x HYJS HiyMT™ J|

° Watch Video Solution



https://dl.doubtnut.com/l/_WbDgN4c7OweT
https://dl.doubtnut.com/l/_P9tDjtY1DWJi
https://dl.doubtnut.com/l/_TVfKasATJJ0Q

8.3z + 8 > 23 IB IJ, AL :-x EH3fed Hitmr J|

o Watch Video Solution

9. 95 f&3 &t MiAHs3e e3fed AT x BTt I8

&d:-4x + 3 < bz + 7

° Watch Video Solution

10. 3 f&3 € MiAH™a3e e 3fed Ay x Bt I8

33z — 7> b — 1



https://dl.doubtnut.com/l/_PKpLpWVuLmg2
https://dl.doubtnut.com/l/_3uoxov37E3gM
https://dl.doubtnut.com/l/_Vir4SNelH4HR

| ¥ vvatch video soiution ]

11. 35 23 <t MiAHs3e er3fed AT x BEt I8

&d:-3(z — 1) < 2(z — 3)

° Watch Video Solution

12. 95 &3 € viAHa3e eH3fea AT x Bt I8

33:-3(2 —z) > 2(1 — z)

° Watch Video Solution



https://dl.doubtnut.com/l/_Vir4SNelH4HR
https://dl.doubtnut.com/l/_2JTA69Gp9aFE
https://dl.doubtnut.com/l/_7tSNIm7OnZqh

13. d& &3 Tt mimHas3e eAsfed At x B9 IS

Tz + -+ 2 <11
:13+2—1—3<

° Watch Video Solution

14. 35 &3 &t mimua3Te er3fed At x Bt 75

3@:-%>%—|—1

° Watch Video Solution



https://dl.doubtnut.com/l/_FM8TyjX8EGTi
https://dl.doubtnut.com/l/_d1ivevrsm5Bf

15. d& &3 T miaHs3e eAsfed it x B9 IS

:_3(50—2) - 5(2 — x)

33 5 - 3

° Watch Video Solution

16. d& &3 T miaHas3e eA3fed At x B9t I8

1/3 1
3@:-5 (Tw —|—4> > g(a} — 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_dhmRHdjWl0Sy
https://dl.doubtnut.com/l/_eaTtYqXOanxB

17.3& 23 Tt niaHs3e gr3fed AT x B8t I8

a3:2(2z + 3) — 10 < 6(z — 2)

° Watch Video Solution

18. 95 f&3 €t MiAHa3e e H3fed At x Bt I8

&3:-37 — (3z +5) > 9z — 8(z — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_iF8Djiq5T7Jm
https://dl.doubtnut.com/l/_kuG3ldpcwU1Z

19. d& &3 T mimHs3e eA3fed it x B9 IS

(5z —2) (Tz — 3)
3 5

aé‘:—% <

° Watch Video Solution

20. d& &3 Tt niAHs3e eA3fed AfynT x Bt I8

(2z — 1) 3z —2) (2—x)
e S

o Watch Video Solution



https://dl.doubtnut.com/l/_mUezugET4cjU
https://dl.doubtnut.com/l/_9VyCA5HiNoMx

21. I35 &3 &€ MAHE3E & I8 od M3 G &
Hynmt 3y 3 wBfH3 dd (BIH6):-

J3r —2<2x+1

° Watch Video Solution

22. 35 &3 dnf miAHTa3el § I8 a9 »3 85T &
Hmm g7 3 w3 dd (SIHB):-

S —3 >3z —5

° Watch Video Solution



https://dl.doubtnut.com/l/_beEFQ1QlnYMS
https://dl.doubtnut.com/l/_73uPikgvqJ4I

23. 35 fd3 €l nAHTa3e § I8 a3 M3 B &
Hynmt 3y 3 wBfH3 dd (BIH6):-

3(1—z) < 2(z + 4)

° Watch Video Solution

24. I35 13 &t mimHa3e § I8 a3 M3 857 &

Hmm g7 3 w3 dd (SIHB):-
(bx —2) (Txz — 3)

TS
2 = 3 5%

° Watch Video Solution



https://dl.doubtnut.com/l/_6taHgOeQZksX
https://dl.doubtnut.com/l/_1xWyGhZtDwQz
https://dl.doubtnut.com/l/_fMLKLRYCDNbU

25. 3! & Ufasmt 2 glse yiftmet feg 70 M3 75
nig Y3 di31 3tAdt it €9 8a We 3 We fds
nd Be fa BAE! We- Wie »H3 60 Mg J A<l

o Watch Video Solution

26. faR UsgH €9 A 3 Yyu3 dds et g
femast & Aratt U Yiftmret (gg 8 100 »id )
90 Md H fer 3 Eg vigl €1 »A3 Y3 daat det JI
Add HaI3" © Ufass 979 fof3aet feg nid 87,92,94
w3 95 I, 3T R fa AS3T YAt Yifamr &g uie 3
We fdé md e fa BHG UagH feg ‘A 9j3 THES Hall

‘ o Wiak~h \NtAdAan CAliikian |



https://dl.doubtnut.com/l/_fMLKLRYCDNbU
https://dl.doubtnut.com/l/_7w0PHmAOvdgz

L YVOULNIL VINMGY JVIVGIVIE )

27. 10 3 Ui BJM3d UG T HYds Ay € A3

YT 3d fAgi & 73 11 3 9 J=|

° Watch Video Solution

28. 5 3 29 fHA3 U6 HYIS Aitel € &I A3

3T d4d fd Baa T 13 23 3 Wc J=|

° Watch Video Solution



https://dl.doubtnut.com/l/_7w0PHmAOvdgz
https://dl.doubtnut.com/l/_qbiKOdIX4HpZ
https://dl.doubtnut.com/l/_1RNMYtzzVp1B

29, i f3g7 <t A3 3 &4t g, f3g7 &t 73 3 &
3 &1 3 I I M3 ISt 3T A 3 BT FAT 3 2
HMY. We J1 Adg 337 T ufaH™y We 3 We 61 ”AHT.
Je 3T A3 3 21 Ir €t Wi 3 We gt u3T Id|

o Watch Video Solution

30. £ fenast 91 HMT. B9 993 19 135 Sardint

dcsT gide’ J1 gHdl Buet A 3 &ct 8umel 3 3
R M. €g »3 3Adt St A5 3 &t Sget 3 It
JdI A8 3 22 8993 <l Hse gt of 9, Add ItHar

gd3 THJ ga3 3 We 3 We 5 At 29 Bgr J=?


https://dl.doubtnut.com/l/_Yrt66kVPfy5v
https://dl.doubtnut.com/l/_Wj2xBUTawaLT

(Ha3: Aad A3 3 &c 9d3 ©f Bgdt x AMl. 98 37
€Hd M3 3HJ gafant it Sareini® gHET (x + 3)
HHl. ™3 2x  dedii 1 fem 3g

4+ (x+3)+22 <9132z > (z+3)+5)

o Watch Video Solution

31. 2-fendt 38 fég d& f3t niAHasT § I8 d3:-

z+y<9d

° Watch Video Solution



https://dl.doubtnut.com/l/_Wj2xBUTawaLT
https://dl.doubtnut.com/l/_yvA4hnUKTQ1E

32. 2fenTet 31 &9 I fE3t niAHa3T & I8 d4:-

2 +y > 6

° Watch Video Solution

33, @-ferrdl 38 fég I fddt mimHs3T & I8 93t

3z + 4y < 12

° Watch Video Solution

34. 2-feHmel 38 f€9 J& 3t M3 § I8 d4:-

y+382=>2x


https://dl.doubtnut.com/l/_xcKasOsDfILQ
https://dl.doubtnut.com/l/_mBztASwI5CHA
https://dl.doubtnut.com/l/_V2QMCNNJyyAJ

0 Watch Video Solution

35. 2-fenTet 35 &9 I fE3t niAHa3T § I8 dd:-

x—y< 2

° Watch Video Solution

36. 2-ferrdl 38 fég I fiddt mimHs3T & I8 d3:-

2¢ — 3y > 6

° Watch Video Solution



https://dl.doubtnut.com/l/_V2QMCNNJyyAJ
https://dl.doubtnut.com/l/_U5Szc4QUiRI7
https://dl.doubtnut.com/l/_AOJ8X95oFwqi
https://dl.doubtnut.com/l/_OaRSu3F69OKJ

37. 2-feHrel 38 fég Jo 1E3t mAHa3T § I8 dd:-

3z +2y> —6

o Watch Video Solution

38. 2-fenTet 31 &9 I fE3t niAHa3T § I8 dd:-

3y — o < 30

° Watch Video Solution

39, g-fevrdl 38 fég I &t mimHs3T & I8 d3:-

x> —3



https://dl.doubtnut.com/l/_OaRSu3F69OKJ
https://dl.doubtnut.com/l/_rQSZyCaKXNO3
https://dl.doubtnut.com/l/_jRsZU8PrpNMQ

I Y Watch Video Solution

40. I3 &3t MAHTSST Y&t & maddt fedt 5% I8

a?r:-a:23,y22

° Watch Video Solution

41. I5 &t niHasT yerddt & viradt fedt 5% I8

ad-3x +2y <12,z > 1,y > 2

° Watch Video Solution



https://dl.doubtnut.com/l/_jRsZU8PrpNMQ
https://dl.doubtnut.com/l/_i79cPviOXZ4c
https://dl.doubtnut.com/l/_MeXZczJBBQIA

42. I& &3t niAHTa3T Yot § masd! fedt 5% I8

ad:-2x +y > 6,3z + 4y < 12

° Watch Video Solution

43. 35 &3t niAHs3T yor&t § mradt fedt o8 I8

dd-z +y>4,2c—y>0

° Watch Video Solution

44. I3 &3t MAHTSST Y&t & maddt fedt 5% I8

dd-2z —y>1lz—2y< —1


https://dl.doubtnut.com/l/_4vSp99ujDyIH
https://dl.doubtnut.com/l/_b1Ek1OuIuV5K
https://dl.doubtnut.com/l/_xbhKArsbsW4e

0 Watch Video Solution

45. I& &3t niAHTa3T Yot § masd! fedt 5% I8

gz +y<6,z+y>4

° Watch Video Solution

46. IS o3t MAHTS3T yor&dt & vt fedt o I8

ad-2z +y > 8, + 2y > 10

° Watch Video Solution



https://dl.doubtnut.com/l/_xbhKArsbsW4e
https://dl.doubtnut.com/l/_kjyjCWjAokuP
https://dl.doubtnut.com/l/_b69e0tYlAAYV
https://dl.doubtnut.com/l/_nw4jNFDOvGxa

47. 35 13t MANTS3T Y&t § mirssdt fedt 5% I8

gz +y<9y>z,x>0

° Watch Video Solution

48. I& &3t niAHTa3T Yot § masdt fedt 5% I8

a0:-5x + 4y < 20,2 > 1,y > 2

° Watch Video Solution

49. IS fo3t MANTS3T Yot & mrdt fedt o I8

ad:-3z + 4y < 60,2 +3y <30,z >0,y >0



https://dl.doubtnut.com/l/_nw4jNFDOvGxa
https://dl.doubtnut.com/l/_pBR4CmvzrpKp
https://dl.doubtnut.com/l/_H2nIzoS8GcyJ

I Y Watch Video Solution

50. & fE3t MANTSST yers&t § vt fett o) I8

g2z +y>4r+y<32c—3y<6

° Watch Video Solution

51. 95 3t MAHS3T Y&t § madt fedt 8 I8

ad-x —2y<3,3x+4y>12,2>0,y>1

° Watch Video Solution



https://dl.doubtnut.com/l/_H2nIzoS8GcyJ
https://dl.doubtnut.com/l/_cVPVmjaObTsY
https://dl.doubtnut.com/l/_bCVjyJpCR1Qq

52. J& 3t wAH™SST yorat & vt fedt o) I8

ad-4z + 3y <60,y > 2z, > 3,z,y > 0

° Watch Video Solution

53. J& T3t miAHTa3T yeregt & miadt fedt a5 I8
J:-

3z + 2y <150,z +4y < 80,z <15, y>0,z > 0

o Watch Video Solution



https://dl.doubtnut.com/l/_oBlapHn0GM7v
https://dl.doubtnut.com/l/_xlXyw02RwCyD

54, Jc &3 & wANSs & I8 dd-

2<3x—-—4<5

° Watch Video Solution

5. J& fd3 & wmHe3s § I8 dd-

6 < —3(2z —4) < 12

° Watch Video Solution

5. d& fd3 € wAHE3T § I8 Fd-

—3§4—77w§18


https://dl.doubtnut.com/l/_dTe4qpE56amc
https://dl.doubtnut.com/l/_rwt5m1XBoI1E
https://dl.doubtnut.com/l/_AwZNwXdSMPtd

0 Watch Video Solution

5. d& &3 € »AHe3T § I8 dd-

3(x —2) _

—1
5 < 3 <0

O Watch Video Solution

5. d& fd3 & AN § I8 dd-

3
—12<4——5§2

° Watch Video Solution



https://dl.doubtnut.com/l/_AwZNwXdSMPtd
https://dl.doubtnut.com/l/_jWdTNmtLfTYr
https://dl.doubtnut.com/l/_rLqcrysS0O7J
https://dl.doubtnut.com/l/_1QT7G0MPoQOS

° Watch Video Solution

60. IS &3 € AN § I8 I3 »3 I8 & Hitmr

IT3TIHG:-5r +1> —24,5x —1< 24

° Watch Video Solution

61. IS f&3 €t »AHG3™ § I8 dd M3 IS & Hitnr

T 3 TIH'G:-


https://dl.doubtnut.com/l/_1QT7G0MPoQOS
https://dl.doubtnut.com/l/_miaPuWDy38m4
https://dl.doubtnut.com/l/_nKWD4tq7JRoF

2 — 1) <z +53x+2)>2—=x

° Watch Video Solution

62. IS 3 & MAHGST S IS dd M3 I8 & Hitny
4T 3 TN E:-

3z —7>2(x—6),6—x>11—2x

o Watch Video Solution

63. I3 f&3 €t WAHE3T § IS ad w3 I8 & Hitmr
ISy 3 TING:-


https://dl.doubtnut.com/l/_nKWD4tq7JRoF
https://dl.doubtnut.com/l/_xaAbYW1EwH1K
https://dl.doubtnut.com/l/_ODpiujjUsGbw

5122 — 7) — 3(2x + 3) < 0,2z + 19 < 6z + 47

© Watch video Solution

64. i WS & 68° F w3 77° F & fegdrg dfunr
7 Jd1 for 33U < f39rdt AsatmA (C) feg ot
Jedfl, Aidd ABHMHA (C) M3 edadie (F) Ufged3s

H3d F =9/5 C+32 Je?

° Watch Video Solution



https://dl.doubtnut.com/l/_ODpiujjUsGbw
https://dl.doubtnut.com/l/_OmG3m8JxdnPP

65. farn fenmadt = 1Q U3T II5 ¥ H3T

x 100 fig MA HafHe 8Ha 3 CA

MA
Q=24
AT MGAg BHT J1 Add 12 A% & EHg 2 gfami 2
ffd AT = 10,80 < IQ < 140 J2 37 Qo w

HasfHa 8Ha <1 fergg usT ad|

° Watch Video Solution

1.30 x < 200 § IS dJ AC :- x Y3 At I

‘ ° Watch Video Solution |


https://dl.doubtnut.com/l/_JcSRiCBkmqaB
https://dl.doubtnut.com/l/_DoLd8ilDBsH2

2.30 x < 200 & IS IJ AL :- x HYJS Hitni I

° Watch Video Solution

3.5z — 3 < 3z + 18IS J AL :- x HYIS AT

J

0 Watch Video Solution



https://dl.doubtnut.com/l/_DoLd8ilDBsH2
https://dl.doubtnut.com/l/_WBm1ElN9WTVZ
https://dl.doubtnut.com/l/_9bzwq0Zk7t7e

4.5 — 3 < 3z +1 & IS dd A - x EH3fER

At 3

° Watch Video Solution

5 J8ad4x + 3 < 6 + 7.

° Watch Video Solution

5—2w<£_
3 — 06

6. 5% IS |

° Watch Video Solution



https://dl.doubtnut.com/l/_3OCy3y7BCIpm
https://dl.doubtnut.com/l/_U40bCzSBHdZF
https://dl.doubtnut.com/l/_XH2AXJheU9J3

7.72 + 3 < 5z + 9 & IS I3 M3 IS & HitmwT g

3 I g (feu @)l

0 Watch Video Solution

3r — 4 S x + 1 B
2 - 4
it §3 feu |

8.

o

13838

a3 M3 I8

«Qfp

° Watch Video Solution



https://dl.doubtnut.com/l/_XH2AXJheU9J3
https://dl.doubtnut.com/l/_oOI08e32Tegy
https://dl.doubtnut.com/l/_RrCdNmvyRIoI

9. XI A3 € g fefenrgd! & ufa® W3 gAd A3d
dinft Jiftmiret f&g qHeETa 62 #i3 48 wid Y3 i3]
89 Wc 3 uie nid Y31 d3, A § ASTeT it feg
Y3 ddd fefanmradt € »idi & #iA3 We 3 We 60
GES

o Watch Video Solution

10. HE'd T HiymreT 2 far 3g7 & Yidisd Aftmiret
€ 13 Y37 d4, fran &g &< ditmrei 10 3 Sg ds w3
835 T 13 40 3 We I

o Watch Video Solution



https://dl.doubtnut.com/l/_nFExaGzF6qJL
https://dl.doubtnut.com/l/_K7cSqsIU3wIL

1.3z + 2y > 6 &Rl fett 578 I8 3J |

° Watch Video Solution

12.3z — 6 > 0§ -feqmel 35 &g el fett 53
I8 A3

° Watch Video Solution

13.y < 25l fetl a8 I8 AJ |



https://dl.doubtnut.com/l/_K7cSqsIU3wIL
https://dl.doubtnut.com/l/_VAw9NWWsSUEf
https://dl.doubtnut.com/l/_JIdcEUaV5LmC
https://dl.doubtnut.com/l/_rbHADfjrGCbP

| W Watch Video Solution

14. 35 &3t miAHTS3T Y&t § vt fedt &8 I8

-z +y>bh.Mzx—y<3.(2)

° Watch Video Solution

15. I& {3t niHe3T yeragt & miadt fedt &8 I8

dd:- b + 4y <40.(Mx >2..12)y>3..(3)

° Watch Video Solution



https://dl.doubtnut.com/l/_rbHADfjrGCbP
https://dl.doubtnut.com/l/_2kIn5pPFpwWI
https://dl.doubtnut.com/l/_8uNNmpMQdJEE

16. d& fd3t nHe3 Yot § I8 dd-

8 +3y <100..(Mxz > =0..(2)y > 0..(3)

° Watch Video Solution

17.95 &St AN S3T Yot § I8 dd:- = + 2y < 8

M2+ y<8.2)z>0..(3)y>0..(4)

° Watch Video Solution

18. -8 < 5z — 3 < 78IS I

&


https://dl.doubtnut.com/l/_DxVeLmRJvmFv
https://dl.doubtnut.com/l/_lCOZkyrjBJiT
https://dl.doubtnut.com/l/_kffoYtZeia7C

| ¥ vvatlch video soiution ]

5 — 3x

19.—5 < < 88 U8B A3

0 Watch Video Solution

20. MAHGST YSBl IS A3 3z — 7T <5+ ..
(1) 11 — 5z <1 ..(2) M3 I8 & Afynr Jur 3

TIAG |

° Watch Video Solution



https://dl.doubtnut.com/l/_kffoYtZeia7C
https://dl.doubtnut.com/l/_4zvonMKCjjnq
https://dl.doubtnut.com/l/_7xRhqW8y53DC

21, far ydar &g, 39 € U8 & 30° 3 35°
ABHMA 3UHTs 2 @9 dftmrm A 31 3uH™s e
fergg ggadic OUs fég ot d=edr, Aidd RBHMHA

W3 gdadic  UHS € Ylded3s  H3d

Cz%(F—BQ)ﬂ%Iﬁé’ﬁCHBF@-@HW‘B

& f3ardt RgHMA »3 {3914t eaadie €9 Tange

Jdol

o Watch Video Solution

22. 83 f&aH™3™ 38 12% 379 8T WS 600 Bicd

J1 for fé9 30% 379 T WS Ga fHafenr A


https://dl.doubtnut.com/l/_AKyH8pGHkQGh
https://dl.doubtnut.com/l/_A2v4GSotojpm

3T 3 My 3 Y3 WS feg 3T €@t 33T 15% 3 €9

Ud 18% 3 ulc Je ?

° Watch Video Solution



https://dl.doubtnut.com/l/_A2v4GSotojpm

